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_m_ý Þûº _�k · 30

ß{w _�k · 10

_z{Ûl 10.0¿ïO · 20

ë_{÷V · 20

tÿý ëuþÝtÿ 300×300ß ÿ 54

tÿÏ ³ó¿úüøÏ0.5m ÿ 42

tÿÏ °üüñó°Ï1.0m ÿ 5

ë°{×Úwý ³ó¿úüøë°{×Úw Ö{ë°{ · 4

ûÛl Ö{³ó¿úüøû010.9kmïO · 4

û÷V Ö{³ó¿úüøû ÿ 10

Ý�¿ùó·óùó ÿÿÿÿÿ

�Íý O|ïö ÿÿ15ÿÿ ³ 54

þþ¿u}÷M25

N|ïö ÿÿ10ÿÿ ³ 54

Ý�ßþþ²¹³ó20F

è| ÿÿ5ÿÿ ³ 54

ÿoî¯ý î��^ïÙõ î��^ïÙõB þûå 8
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_ m _ ý Þûº {þjí÷¸º 0.56 ³ × 54.0 ÿ ÿ 30.2 ·

ß{w {þjí÷¸º 0.14 ³ × 54.0 ÿ ÿ 7.6 ·

_z{Ûl 30.2 · ÿ 7.6 · ÷ 0.9 ÿ 22.0 ·

ë_{÷V 22.0 · ÿ 22.0 ·

t ÿ ý  ëuþÝtÿ300×300ß 54.0 ÿ ÿ 54.0 ÿ

tÿÏÿÿÿÿÿÿÿÏÿ
L=0.5m

52 ÿ × 0.8 r 42 ÿ

tÿÏÿÿÿÿÿÿÿÿÿÏÿ
L=1.0m

( 52 ÿ ÿ 42 ÿ)÷ 2 ÿ 5 ÿ

ë°{×Ú ³ó¿úüøë°{×Úw 0.07 ³ × 54.0 ÿ ÿ 3.78 ·

³ó¿úüøûÛl 3.8 · ÿ 4 ·

³ó¿úüøÿÖ{ÿû÷V 3.8 · × 2.5 ÿ 9.45 ÿ

� Í ý O|ïö 1.00 ÿ × 54.0 ÿ ÿ 54.0 ³

N|ïö 1.00 ÿ × 54.0 ÿ ÿ 54.0 ³

è| 1.00 ÿ × 54.0 ÿ ÿ 54.0 ³

ÿoî¯ý î��^ïÙõ 2 þ × 4 å ÿ 8 þûå
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